
Rear Toe Control Arm - Bushing Kit         

Check to make sure that you have all parts listed prior 
to installation. If anything is missing contact us 
immediately. 802.893.7366

READ BEFORE INSTALLATION
The use of any Rennline product is the sole responsibility of the end user. Rennline Inc. Accepts no responsibility for 

warranty voids or damage resulting from the use of these products. Due to the varying location of wiring harnesses and 
other components, carefully inspect any area prior to drilling. All Rennline products are intended for off road use and 

should be installed by a qualified automotive technician.

P/N S72                                                                                                                                                                                                     2/14                                                                                                                                                                                                

Parts List: 

Sub frame
(Top View)

 

Hub
(Top View) 

Factory Eccentric Nut (x1)

Factory Eccentric lock (x1) 
Factory Bolt

S03 Bushing (x2) 

5/8 - 18 nut LHT

Rod Ends
(1) JMXL10T
(1) JFXL10T

S14 Bushing 

S10 Bar 

S05 Bushing 

Rear Strut

M12x120mm bolt 

S41 Jacknut 

M14x1.5 RHT 

 (2) P/N S03 Bushing
 (1) P/N S14 Bushing
 (1) P/N S05 Bushing
 (1) M12x120mm Bolt MC91310A750
 (1) M12x1.75 Nut MC98498A100
 (2) M12 Washer MC98035A107
 

Step 1 - Remove factory toe control arm 
Step 2 - Install Rennline adjustable arms as shown below, apply anti seize or 
equivalent to the threads of the aluminum tube.
Step 3 - Torque bolts to 75 ft-lbs.
Step 4 - Align car

FX 802.893.7311
PH 802.893.7366

EM: Sales@rennline.com
Order Online:   WWW.RENNLINE.COM


